Assembly Sheet

T-5037-C COFFEE TABLE

NO. | 11lustration | Description |QTY/QTE|NO. | 11lustration | Description |QTY/QTE
A % shelf 1 B @ leg 2
c ~ cross brace 1 D (o screw M6%12 4
E (s screw M6%35 g F D Aleen Key 1
G é adjustable foot 4

to the leg B

Rl

insert the C to the leg B and fixed with screw D, then screw the adjustable foot (G)

\BEG

@Attach the shelf(A) t

EY

B A




Feuille D" assemblage

T-5037 £ FIN TABLE

NO.| 1llustration | Description |QTY/QTE|NO.| 11lustration | Description |QTY/QTE
A Etagére 1 B ﬁ jambes 2

C ~ cross brace 1 D @‘ Vis M6*12 4

E (Psnenn. Vis M6*35 6 F D clé Allen 1

G &  pied réglable | 4

Insére la traverse C aux jambes B avec la vis D Ensuite, visser le réglage

pied (G)a B




Assembly Sheet
T-5037-E END TABLE

NO. | 11lustration | Description |QTY/QTE|NO. | 11lustration | Description |QTY/QTE
A <> shelf 1 B @ legs 2

c ~ cross brace 1 D (o screw M6%12 4

E (s screw M6%35 g F D Aleen Key 1

G é adjustable foot 4

insert the cross brace C to the legs B with screw D, then screw the adjustable

foot(G) to B D
% %A # G
B

EY




Feuille D" assemblage

T-5037-C COFFEE TABLE

NO. | 1llustration | Description |QTY/QTE|NO. | 1llustration | Description |QTY/QTE
A % Etagére 1 B @ jambe g

C ~ cross brace 1 D ﬂ-’ Vis M6*12 4

E (e Vis M6+*35 6 |F D clé Allen 1

G & | pied réglable 4

ala jambe B

D

@ Insérer le C sur la jambe B et fixer avec la vis D, visser le pied réglable (G)

Eﬁ(;




	T-5037-E coffee table
	T-5037-E French
	T-5037-C end table
	T-5037-C French

